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M1 Puzzling Tours
You are a hotel tour guide. Tourists staying in your hotel expect to be taken on a tour visiting all the city’s attractions. You have been given an underground map that shows all the locations of the attractions and how you can get from one to another using the underground network.
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You must work out a route that starts from the hotel and will take your tour group to every tourist site. The tourists are only in the city for the day, so don’t want to waste time. They will be unhappy if they pass through the same place twice. Obviously, they also want to end up back at their hotel that evening.
As with the Knight’s Tour, your task is to come up with an algorithmic solution.

Check that your solution works. Time yourself to see if it is harder or easier than the Knight’s Tour.
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Solution

	Place Number
	Place Visited

	1.
	

	2.
	

	3.
	

	4.
	

	5.
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	8.
	

	9.
	

	10.
	

	11.
	

	12.
	


How long did it take you? And was it easier (ie you solved it faster) than the Knight’s Tour (if you solved that at all)?
